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BACHELOR OF EDUCATION 
(B. Ed.)  

Term-End Examination 
December, 2024 

BES-127 : ASSESSMENT FOR LEARNING 

Time : 3 Hours     Maximum Weightage : 70% 

Note : (i) All questions are compulsory.  

 (ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words :  

Compare the behaviourist, cognitive and 
constructivist perspectives of assessment. 

Or 

Explain the placement, formative, diagnostic 

and summative evaluation with suitable 

examples. 
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2. Answer the following question in about 

600 words : 

Explain reliability as an essential criteria of an 

effective tool. How is it calculated ? 

Or 

Discuss the role of teacher in technology 

enabled assessment and evaluation. 

3. Write short notes on any four of the following 

in about 150 words each : 

(a) Extended and restricted response type 

items 

(b) Advantages of question bank 

(c) Areas and content of diagnostic testing 

(d) Functions of continuous and 

comprehensive evaluation 

(e) Difference between measurement and 

evaluation 

(f) Comparison of mean, median and mode 
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4. Answer the following question in about 
600 words : 

Calculate mean of the following data by using 
assumed mean method : 

Class Interval Frequency 

90—94 

85—89 

80—84 

75—79 

70—74 

65—69 

60—64 

55—59 

50—54 

2 

3 

5 

7 

10 

6 

4 

2 

1 

          N = 40 
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f'k{kk esa Lukrd (ch- ,M-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch- bZ- ,l--127 % vf/xe ds fy, vkdyu 

le; % 3 ?k.Vs     vf/dre Hkkfjrk % 70% 

uk sV % (i) lHkh iz'u vfuok;Z gSaA 

 (ii) lHkh iz'uksa dh Hkkfjrk leku gSA 

1- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa  

nhft, % 

vkdyu ds O;ogkjoknh] laKkukRed vkSj jpukoknh 

ifjizs{;ksa dh rqyuk dhft,A 
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vFkok 

LFkkiu (IyslesUV)] jpukRed@fuekZ.kkRed (iQkWeZsfVo)] 

funkukRed (Mk;XuksfLVd) vkSj ladyukRed 

(lesfVo) ewY;kadu dh mi;qDr mnkgj.kksa }kjk O;k[;k 

dhft,A 

2- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa  

nhft, % 

,d izHkkoh midj.k ds ,d vfuok;Z ekun.M ds :i 

esa fo'oluh;rk dh O;k[;k dhft,A bldh x.kuk dSls 

dh tkrh gS \ 

vFkok 

izkS|ksfxdh l{ke vkdyu ,oa ewY;kadu esa f'k{kd dh 

Hkwfedk dh ifjppkZ dhft,A 
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3- fuEufyf[kr esa ls fdUgha p kj ij (izR;sd yxHkx 

150 'kCnksa esa) laf{kIr fVIif.k;k¡ fyf[k, % 

 (d)  foLrkfjr ;k eqDr vkSj izfrcfU/r izfrfØ;k 

izdkj ds fo"k; (,DlVsaMsM ,.M jslfVªDVsM 

jslikal Vkbi vkbVEl) 

([k)  iz'u cSad ds ykHk 

(x)  funkukRed ijh{k.k ds {ks=k ,oa fo"k;&oLrq 

(?k)  lrr~ ,oa O;kid ewY;kadu ds izdk;Z 

(Ä)  ekiu ,oa ewY;kadu esa vUrj 

(p)  ekè; (ehu)] ekfè;dk (ehfM;u) vkSj cgqyd 

(eksM) dh rqyuk 
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4- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa

nhft, %

dfYir ekè; fof/ (vT;wEM ehu esFkM) dk iz;ksx

djrs gq, fuEufyf[kr vk¡dM+s ds ekè; (ehu) dh

x.kuk dhft, %

oxZ vUrjky vko`fÙk;k¡@ckjEckjrk,¡ 

90—94 

85—89 

80—84 

75—79 

70—74 

65—69 

60—64 

55—59 

50—54 

2 

3 

5 

7 

10 

6 

4 

2 

1 

    N = 40 

× × × × × × × 
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